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Cooking Addition

Solve the following word problems.

If Mary uses 2 cups of flour, 3 cups of sugar, and 4
cups of milk for a cake recipe, how many cups of
ingredients does she use in total?

John has 3 pints of milk, 2 pints of cream, and 1
pint of honey. How many pints of ingredients does
he have in total?

In a recipe, Lisa uses 2 ounces of butter, 2 ounces
of sugar, and 1 ounce of chocolate. How many
ounces of ingredients does she use?

Sam is preparing a salad. He uses 2 tomatoes, 1
cucumber, and 4 carrots. How many vegetables
does he use in total?

Emma uses 1 gallon of milk, 3 gallons of water, and
2 gallons of juice for a party. How many gallons of
liquids does she use in total?

If a recipe requires 4 cups of flour, 3 cups of sugar,
and 3 cups of butter, how many cups of ingredients
are needed in total?

Ava is making a pasta. She uses 2 tomatoes, 1
onion, and 4 cloves of garlic. How many
ingredients does she use in total?

Anna has 1 pint of cream, 1 pint of milk, and 1 pint
of yogurt. How many pints of dairy products does
she have in total?
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